PHYC303 Quiz 7 Name SOLUT L ON]S

Assume ideal springs. w =, [—
m

1. A mass m hangs (in the Earth’s gravity) from a spring. The system has an angular frequency of 2
rad/sec. The mass is initially at rest.

a) A constant downward force F is applied for a time At. What should At be if you want the largest
possible subsequent oscﬂlatlon of the mass?
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b) Instead, the mass is set into motion so that, at t=0, the position of the mass is +4 m from its
resting position, and the speed of the mass is +12 m/s (+ measured downward.)
If the position of the mass is written as x=Acos(wt -8), (measured from the rest position)what are
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2. The amplitude of a mass-spring system is 2 m. When the mass is at 1 m from the resting
position, its speed is 1 m/s.

What is the angular frequency of the motion, w?
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